Potencias de 10 (J)

2,499 = 10

9,212 =10

0,529+ 10

1,345+ 10

9,268 + 10

4,128 =10

0,201 = 10

6,666 = 10

8,157 =10

8,543 =10

Calcule los siguientes cocientes.

9,385+ 10

0,419 10

0,467 + 10

6,042 =10

6,36+ 10

5,969 = 10

8,948 + 10

2,066+ 10

6,321 =10

0,251 +10
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Potencias de 10 (J) Respuestas

2,499 = 10
0,2499
9,212+ 10
0,9212
0,529+ 10
0,0529
1,345+ 10
0,1345
9,268 = 10
0,9268
4,128+ 10
0,4128
0,201+ 10
0,0201
6,666 -+ 10
0,6666
8,157 + 10
0,8157
8,543+ 10
0,8543

Calcule los siguientes cocientes.

9,385+ 10
0,9385
0,419+ 10
0,0419
0,467 = 10
0,0467
6,042 = 10
0,6042
6,36+ 10
0,636
5,969 = 10
0,5969
8,948 = 10
0,8948
2,066 =+ 10
0,2066
6,321+ 10
0,6321
0,251+ 10
0,0251
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